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from_each module.

§ 1 a. Explain the characteristics of the Dgta}gasg ‘approach. (08 Marks)
% b. Discuss any three advantages of us§ng§n DBMS approach. = (06 Marks)
g8 c. Explain Three Schema Architeépti;lréfgWhy do we need ma;gping between Schema levels?
“§ oy G Y (06 Marks)
§ s OR - 7
¢ g 2 a. List and explain the va;iﬁw otations used in an ER diagram. (08 Marks)
£= b. Discuss the various cases where use of a NULL Value would be appropriate. (06 Marks)
¢ L c. Define the following with an example for each :_
B i) Valueset i) Multivalued Attributes.  iii) Database  iv) Total participation
£7 v) Partial Participation vi) Cardinality Ratio. (06 Marks)
£q A& 3
5 g & ) Module-2
25 3 a Fromthe tables “R” and “S”, find the following : i) RUS i) RNS iiiy S-R
8% iv) R P<dRsNo=s.sNoS V) R-D>GR sNo=$.5N0 S vi). 'R >R pept=spept S (06 Marks)
23 "] Dept | SNol: “Dept
< & CSE S10.| Maths
g ISE 4| "S3 | Chemistry | .
S 5 Chemistry {/S15 | PSy-~
55 (.. |_S4 |Electronics| S16 Eng
=5 b. Explain SELECT and PROJECT Operations in relational Algebra. (06 Marks)
EE c. What are the basic data types available for attributes in SQL? Explain each of them.
—g- §~ ) ; (08 Marks)
£ & ,
8 3 e s OR
g2 4 a Consider the following schem
z, 2 SUPPLIERS (Sid , Snar“p’ ‘address)
: § ~PARTS (Pid , Pname ,.color)
s ATALOG (Sid, Pid., cost)
£ "/ Write the following SQL Queries :
% 3 i) Find the NSidg%“"’"f the Supplierss'ég‘how supply some red part or are at “Belagavi”.
g 5 i) Find the Sids of Suppliers \Q;vho&ﬁs‘upply some red and some green part.
& 5 iii) Find pairs of Sids such that §ﬁpplier with the first Sid charges more for some part than
Ca the Supplier with the second Sid. (06 Marks)
s b. Discuss Entity integritxwgﬁ@%;‘eferential integrity constraints. (06 Marks)
2 c. Explain the steps to coqvgg:t/the basic ER model to relational database schema. (08 Marks)
§ Module-3
& 5 a. Define the term'Stored Procedure. Explain creating and calling of Stored procedures with
A suitable notations. (10 Marks)
b. Explain Impedence Mismatch problem. (05 Marks)
C. (05 Marks)

What ar%p/iews in SQL? Explain.
.
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What are the components of JDBC Architecture? Descrlbe four different alternatives for
JDBC drivers. £ ¥ (10 Marks)
Explain the concepts of SQLJ. y (05 Marks)
Explain the advantages of three tier application %]rc ‘\ (05 Marks)
ModuleM‘, Ty
Write an algorithm for finding minimal ¢ ver F for a set of Functlemal Dependencies E.
. 1P . % (05 Marks)
Explain INF , 2NF and 3NF Normal Férms. (09 Marks)

Given a relatlon R={A,B,C,D, E Hn? and having the following FDs.
F={{A—>BC}, {C D> E}% {E C}, {DoA E,;H} {A,B,H—> B,D} ,
{D, H— B, C}}. Find the key:fowrg efatlon R with FD F. Norrn“&hze upto 3NF. (06 Marks)

OR P

Explain Informal Design-Gui }mes for Relational Schmemas (08 Marks)
Explain BCNF Normal. Férm o (06 Marks)
A set of FDs for relatlen R{A, B, C,D,E, F} are ABW—> C,C>A,BC—>D,ACD—>B,

BE —» C, EC - FA CF —-BD,D—>E. Fmd an irreducible cover for this set of FD’s.

(06 Marks)

A, Moélul“e-S
Explain . ACID properties of transactions. (04 Marks)
Explain Tmnsactlon support in SQL; (06 Marks)

Consider the three transactions T4, Tz and T3 and the sqhédﬁles S; and S, given below. Draw
and state whether each schedule is

the serializability (precedence) graphs for S; and
serializable or not. If a schedule is serializable ,\write.down the equﬁmlent serial schedule

(S). V
T :nX) ; n(Z);w (X) Y A
T; : r;(Z) rz(lY) wz(lzj waY) ; tMRlT LIBR AW
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......

3(Y)
(Z) ; 15(X) 5 (V)% Wl(X) wi(Y) ; 1a(Y) ; wa(Z)  waY) 5

1Y) ; wi(X) ; wa(Z) ; wi(Y) ; wa(Y) 5 (10 Marks)

T3 :13(X) ; 13(Y)s5
Si :1i(X) ; r2(Z
S :ni(X); rz(Z) 13(X) ; 11(2) ; 1aY)

i
R

kkkkk \ OR Al
Descrlbe the Shadow Paging recovery techmque - (04 Marks)
Expléim Strict2PL Protocol:. (06 Marks)
Consider the below Figure 1(a) and (b) : =
""" ¢° T W h Ty
read_item (X); | read_item (X) ;
X:=X-Nj = X:=X+M;

write_item (X) ;

write_item (X) ;

read 1terh (Y)

Y:=Y+N;

write_item (Y) ;
Figure 1 : (a)° Transactlon T, (b) Transaction T.

List all the possible schedules for transaction T; and T, and determine which are conflict

serializable (Corre,g:t) and which are not. (10 Marks)
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